Pre-Calculus
Intro to Unit &

Algebra Review
Factor:
f
l.x?—1 2. x2-2x+1_><.[
Diff of pekesr Ts 4
(XA (X-0) (- )

5.1—x? 6.x% +2x + 1 '>,Q
i of Wﬁuﬁ s )
(1-)(ex) (DD

Solve by factoring:

9.x2-5x=0 @c¢F
X (x-5)=0

Simplify:

3

7 = 3%

:3_

11,

-

H
S
s _[is
4 |y

Pt

3

13. Simplify into two factions: z :2 — L3
X

Add/SubtractFractions:

2 3

1 . —

2D 30D
(D Trahed

Get Commne
OU..V"L (M/Ll n@h’)‘\.;b/

w _ Ax-2-3x-3 |-x5
RETHY

(D (=1

+

Qc-ifD(.%“

Name:

y |
3.4x% —4x + 1 ,}XL 4. x372 — x?y?
Long Gbe 2y GCF

u\fz—a\(«&sc-l*\ X (Y%— %) o
X (2x - -] (2= e
| (2x-D) (2y- D; 5
';’x—y2 - 8.x2+4x -5 _,,5 &
O'F pU-ﬁch U§ L X"l'S)(Y-— I
CX %D(K'i’ abC

10. x2 — 5x = 14
XZ—Sx— 4 =0
(x-){(x+2) =0

]X‘-‘-7 K = I
g .
(]

ml-{alglw

» ot

r 5
;- S,J_i_{i
o g T Lp LE

2
X

15. = 4 =

x+2

XC‘[" t) +___L_{___._
TN )

x_x+Y
(x+D)(x=1)

xlye N+ Y
(e 2Y(x= 1)




Simplifying Expressions Using Trig Identities

- ( ~Partd: Useyour calculatorto complete the following investigation.
Evalute part a. by putting sin (1—2) into your calculator and then square your answer. Once you have done that store
that number in A. Do the same thing for part b. but store the number in B. In part c. add A and B together.

1o sn(Z)= g5| (n(E) = ozx\  2a sm87= quu3 Gnen?= 58HZ

1.b. ~ cos (E) = &Zgo‘g (cos (1%))2 = 9019 2b cos.87 = loHU ¥ (cos.87)? = H IS¥®
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L (sin (%))2 + (cos (;Hg))z = / 2.c.  (sin.87)% + (cos.87)* = /

3. Plug in any number for 8 in the following and what do you notice?

(sin )2 + (cos ) = |

*Note: (sin#)2 + (cos8)? isactually written as sin®x + cos®x in real life.

{ "Part 2: Simplifying an expression using what we just found out.
Graph the following... be sure to use parenthesis to help the calculator out.
l.a. tanx sin®x+tanx cos?x =y

1.b. What do you notice about the graph? What does it look like?
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1l.c. Simplify tanx sin? x + tan x cos“x by factoring out tan x.

'{,CL‘/\ a's LS-\.‘\?’K'F LOSZ%S — \j
Now what else can you simplify using what you learned in section 1 #37?
Y= fon ()

So..tanx sin?x +tanx cos®x = (/’1(,)

(\ 1.d. Reflect on the connections you saw in Part 2:



